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QUESTION 1

An architect is designing a company\\'s hybrid cloud environment. Traffic between their local data center and VMC on
AWS software-defined data center (SDDC) requires a high-speed, low latency connection. The connection type should
also support connectivity to services currently being consumed in AWS. Which connection type will meet these
requirements? 

A. Multiprotocol Label Switching (MPLS) 

B. AWS Direct Connect 

C. Four IPSec tunnels for greater bandwidth and resiliency 

D. Route-based VPN 

Correct Answer: B 

 

QUESTION 2

An administrator deploys a VMware Cloud on AWS environment and configures an IPsec virtual private network (VPN)
tunnel to their data center. Hybrid Linked Mode connectivity, however, does NOT appear to be working. Before
contacting VMware Support, what could the administrator do to narrow down the possible issue? 

A. Fill in the relevant IP information for the on-premises infrastructure and run the desired troubleshooting connectivity
test. 

B. Download and review the Tier-0 (TO) gateway firewall logs. 

C. Configure a packet capture device in the on-premises data center to capture packets from the VMware Cloud on
AWS software-defined data center (SDDC) to determine which packets are being dropped. 

D. Configure a packet capture appliance on a local segment within VMware Cloud on AWS to capture and analyze
traffic across a specific NSX-T gateway interface. 

Correct Answer: A 

 

QUESTION 3

An administrator is reducing a five-node cluster down to four. What happens to all virtual machines (VMs) when a host is
removed from a cluster? 

A. All VMs on the host being removed are deleted. 

B. All VMs are powered off. 

C. All VMs are migrated from the host. 

D. All VMs are unregistered from VMware vCenter. 

Correct Answer: C 

5V0-11.21 VCE Dumps | 5V0-11.21 Practice Test | 5V0-11.21 Braindumps                                2 / 3

https://www.passapply.com/5v0-11-21.html
https://www.passapply.com/5v0-11-21.html
https://www.passapply.com/5v0-11-21.html


https://www.passapply.com/5v0-11-21.html
2024 Latest passapply 5V0-11.21 PDF and VCE dumps Download

 

QUESTION 4

Due to a recent acquisition, an architect is being asked to identify and design a cloud-based solution that will assist in
merging several data centers together without incurring undue operational overhead while adhering to a very strict
project timeline. The proposed solution must have the capability to be rapidly recovered in the event of a cloud provider
outage. After careful consideration, the architect determines that VMware Cloud on AWS would be an appropriate
solution, requiring a total of nine hosts for capacity. Which additional configuration options would satisfy the
requirements of this project? 

A. Deploy a VMware Cloud on AWS software-defined data center (SDDC) with a single stand-alone cluster. Deploy a
second stand-alone cluster into the SDDC in a separate region. Configure VMware Cloud Disaster Recovery to replicate
and protect workloads to the second cluster. 

B. Deploy a VMware Cloud on AWS software-defined data center (SDDC) with a single stretched cluster across two
separate availability zones. Configure the cluster to ensure that all virtual machines can be restarted in the second
availability zone with a near zero recovery point objective (RPO) in the event of any environment or system failures. 

C. Deploy a VMware Cloud on AWS software-defined data center (SDDC) with a single stretched cluster across two
separate regions. Configure the cluster to ensure that all virtual machines can be restarted in the second region with a
near zero recovery point objective (RPO) in the event of any environment or system failures. 

D. Deploy a VMware Cloud on AWS software-defined data center (SDDC) with a single stand-alone cluster. Deploy a
second SDDC with a stand-alone cluster into a different AWS region. Configure VMware Cloud Disaster Recovery to
replicate and protect workloads to the second cluster. 

Correct Answer: B 

 

 

QUESTION 5

When configuring Hybrid Linked Mode from the vCenter Cloud Gateway appliance, which groups are mapped from a
customer\\'s on-premises environment to the cloud? 

A. LDAP Groups 

B. vSphere Groups 

C. Active Directory Groups 

D. Local Groups 

Correct Answer: C 
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